o:BFER EFRR215FE98B16A8 (K) : NTTEG)
1 2 3 4 5 6 7 8 9 | 10| 11| 12 |&Et| E
ek olofz2]o0o]|o 2 | -
MRLESHE2 | 0| 0 (| 0 [ 0| O 0| O
BALE 211 1 1 | 5« 5 | 1
ZIY 1 2|1 3| 2] 65 18] —
(5F) <AHRLEEKRRS>
LS Kg 1o [ 2@ [ 3@ | 4B | 5@ EAEA RIS
1 5 Ehiith | =ik Ea:1] 2 1
2] 6 [ #mwm [=10 BB 2
3 D EEMX (&0 =iR 2
4] 4 | nrs2 =70 B 0 2
5 3 | whme 5 0 =R 2
6 9 )||5= roEk =x 1
7] o | @t 55 0 =70 2
8 2 SHEA R =10 2
ol 7 ANES Gl 1 1
(i2F) <AHRLEESKRSE>
(3 o | 715 [Bxy| 25 |een| BT (o] =& | &= |68Ex] (RERF] =g
=WYHER 5 32 | 104 | 13 1 1 5 3 10 10 [CE47)
=21)
(F) <AHRLESKRS> (RE17)
(3 BR 8= TRE BER
SHEA 3 2
(B5F) <B&%EH>
7| I Kg B[ oo|[3@ |40 [co[en| 7o sm|on|ax|zn| x| B2 ] &%
1 7 ERAIE | MUK | BER Gl | =8 3 2 2
2 4 Hdp —J 0| &/ = OBk S 2 1
3 5 11z =ik | &I0 EEK | 1B 2 1
4 S EZa a4k 68 | PR = 4 & 4
5 D ERASE | BEEK =R [ =70 2
H 515 At 1 1 1
6 8 N —J0 gl | BER S 1
7 9 (AN =& | P&l =70 3 1 1 1
8] 2 B SED —A 3 | 2
9| e =AM SEEK [0 Bt 2 | 1 1
(#BF] <HX4%dH>
(3 o5 | 15 [BRy] 28 [eceo| 80 [mew] =& | &x (685 BuEF) 28
£8 5 17 82 2 1 4 O (0] [Z£47)
(=241) 21
(AF) <B&%H> (REH) 25
(3 ER aBh=E RS BER
By 3 1




